ASSEMBLY INSTRUCTIONS

MODEL : BD515-FS

COMPONENT
Headboard Headboard Headboard Headboard Ears| Headboard Ears| Side Rail Footboard Center Rall
-1pc. _.em |Leg (Left) a |Leg (Right) | (Lef)-1pc. (Right) - 1 pc. | -2 pcs. -1 pe. -1 pe.

=TI |- Lpe. 47 |-1 - . /
Center Leg Bed Leg Night Stand | Night Stand | Night Stand | Slat
- 3 pcs. 2 pcs Panel - 4 pcs. | Side Panel Back Panel |- 14 pcs. (2 set)
HARDWARE
Allen Key M4 Allen Key M5 JCBB Bolt JCBC Bolt JCBC Bolt JCBC Bolt M6 Spring M6 Flat Washer
-1 pc. -1 pc. M8 x 80mm M6 x 35mm M6 x 40mm M6 x 50mm Washer - 18 pcs] - 18 pcs.

- 12 pcs. - 8 pcs. - 4 pcs.
<
ﬂl m T . D
Wood Screw Wood Dowel Minifix - 28 pcs. | Minifix Bolt Sticker - 36 pcs. | JCBC Bolt
M4 x 25mm M8 x 25mm - 28 pcs. M6 x 45mm
- 40 pcs. - 32 pcs. - 8 pcs.
>

®

@

©

@

@

PAGE 1 of 8




ASSEMBLY INSTRUCTIONS

PAGE 2 of 8




ASSEMBLY INSTRUCTIONS

STEP 3:

/g

Bk
77




ASSEMBLY INSTRUCTIONS

STEP G

PAGE 4 of 8




ASSEMBLY INSTRUCTIONS

STEP 8:

Remarks: Minifix topside arrows
need to outward

PAGE 5 of 8




ASSEMBLY INSTRUCTIONS

STEP 10:

LOCK

PAGE 6 of 8




ASSEMBLY INSTRUCTIONS

STEP 11:

STEP 12:

Remarks: After tied up the minifix
need to pastethe sticker

PAGE 7 of 8




ASSEMBLY INSTRUCTIONS

STEP 13:




